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What is LM3 tool ?

• ‘Local Multiplier 3’

• invented by John Maynard Keynes

• tracks where money is spent in your local economy• tracks where money is spent in your local economy

• valuable insights into the functioning of the local economy



Why bother measuring?

The LM3 tool has been rigorously tested in 10 different communities and in 
five different economic sectors: 

1) Government procurement
2) Food and agriculture2) Food and agriculture
3) Social enterprise
4) Access to finance
5) Welfare benefit take-up campaigns



The problem is not necessarily that too little money flows into a 
neighbourhood. Rather it is what consumers, public services and 
businesses do with that money. Too often it is spent on services with no 
local presence, and so immediately leaves the area.local presence, and so immediately leaves the area.

The Government’s National Strategy for Neighbourhood Renewal



How local money flows – or doesn’t ?How local money flows – or doesn’t ?





Who should measure money flows?

Government ?Government ?

Businesses and organisations ?

Communities and individuals ?



So how does it work?

Start with income, sales or turnover, which we call initial income. In the Tayside
example above, the B&Bs’ initial income was £100,000.

Then measure how that income is spent. People and organisations spend money
differently so we calculate their expenditures differently. In Tayside, we first measured
the spending of the B&Bs, which are organisations. Then we measured the spending of 
the people and organisations receiving money from the B&Bs. the people and organisations receiving money from the B&Bs. 

The LM3 goes three rounds. The B&Bs’ initial income of £100,000 is Round 1. Round 2 is 
how much the B&Bs spent locally: £80,000. And Round 3 is how much of that local 
spending is then re-spent by the B&Bs’ local staff and suppliers in the local area which 
comes to £40,000.

(adapted from The Money Trail, NEF, 2002)



So how does it work?

Add the money from all three rounds together (£220,000), divide by the initial
income (£100,000) and presto, you get the answer 2.20. This is the local multiplier
score for three rounds – or LM3.

Very importantly – our LM3 tool is an indicator. We use indicators all the time, such
as television ratings or stock market estimates (like Dow Jones). These are indicators
because they are not exact measurements but do give us a general sense of howbecause they are not exact measurements but do give us a general sense of how
something is doing. Likewise, when you calculate your LM3, your result will offer
general insight into how one aspect of your local economy is working, rather than a
fixed, unchangeable fact. And, just like television ratings, local multiplier results are
open to interpretation.

(adapted from The Money Trail, NEF, 2002)
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